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Intermediate 1


Homework(1)

Forces
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1.
Copy and complete
The device shown is called a _________ balance. 



It can be used to measure the ________ of a mass. 



Weight is the Earth’s _______ on an object. 



The weight can be calculated using: weight  =  ___  x mass.



Mass is measured in ___________________.



Weight is measured in ___________________.














(5)

2.
Calculate the size of the pull of the Earth on a 2 kilogram mass.

 (2)

3.
How does friction affect moving objects?














 (1)


4(a)
Why is the surface of a road made much rougher close to a      

       
pedestrian crossing?

(b) 
What effect does lubrication have on the wheel bearings on a skateboard?













(1)

5(a)
Copy and complete 


Streamlining can reduce the force of __________.













(1)

(b)
Describe two features of a car which improve streamlining.

(2)

6.
State if the forces are balanced or not balanced.
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(4)

7.
Copy and complete

(a)
When the forces are balanced the object will either remain ________________ or move at constant _____________.

(b)
When the forces acting on an object are unbalanced the object will change ___________ or change _____________ direction.

 (4)

Intermediate 1


Homework(2)

Speed and Acceleration

1.
Copy and complete

The two measurements needed to calculate the average speed of a car on 

a Road are the ______________ and the __________.
The measurements would be taken using a __________________
and a _______________________.
The speed can then be calculated using
 speed  =  

The speed at a particular time is called the ______________speed.













(7)

2.
The distance between two lamp posts on a main road is 
30 metres. A bus takes 5 seconds to travel between the posts.
Calculate the average speed of the bus.





(2)

3.
Describe how you would measure the instantaneous speed of a trolley running down a slope.

(2)

4.
The time taken by three sprinters to cover a 100 m sprint is shown.

	1. Sprinter
	2. Time for 100 m in seconds

	3. X
	4. 10.8

	5. Y
	6. 11.1

	7. Z
	8. 10.1


(a)
Which sprinter has the greatest average speed over the 
100 m? Explain your choice.



















(2)

(b)
Calculate the average speed of sprinter Y over the 100 m.

(2)

5(a)
What is meant by acceleration?

(1)

  (b)
The car performance figures for four cars are shown.

	Car
	9. 0 to 60 mph in seconds

	Burner
	8.1

	Popper
	7.5

	Goffer
	8.8

	Roaster
	6.2


Which car has the greatest acceleration? Explain your choice.

Intermediate 1


Homework(3)
Moving Objects

1.
Two cars collide head on with a barrier. Car A is travelling at 15 mph and has a mass of 1200 kg. Car B has a mass of 1500 kg and is also travelling at 15 mph.

Which car will cause the greatest damage? Explain your answer.











(2)

2.
Two identical cars are involved in a test to find out the effect of speed on the amount of damage caused by collisions. Both cars are set to strike a wall head on. Car P is travelling at 30 mph and car Q is travelling at 45 mph.

Which car will have the greater amount of damage caused to it as a result of the collision? Explain your answer.

















(2)



3.
The experiment is set up as shown to investigate how the speed of a trolley depends on the force applied and the time the force is applied for.

(a)
In the first experiment the same trolley is used but the number of weights on the hanger is increased.

Explain the effect this has on the way the trolley speeds up.

(1)

(b)
In the second experiment the number of weights on the hanger is kept 

the same but the mass of the trolley is increased.

Explain the effect this has on the way the trolley speeds up. 













(1)




4.
A boy playing badminton in the gym finds that the shuttlecock flies faster of the racket when the strings are tight compared with when they are slack even although the force exerted by the racket on the shuttlecock is the same in both cases. Explain why this happens.

(1)

5.
What two factors affect the range of a ball thrown at an angle?













(2)

6.
What three factors affect the height a ball bounces from a surface?













(3)
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